EARAROBREBRT —5 XN—ZXBISH—F 2024538288 (R) 270 EE3H

1R BEE NN o [ w | lsEmml - | o 1o T
[AXE%£] 1&:750,000F ~ 23&:23,000H  337%:150,000H . 4#&:113,000H  53&:75,000
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
W e = — s 4 | [EEREL 1:35.3 2-2-2-1 |37.0| - 1 45) | BEED (BEE)
117010/ /\vE—=—7 54.0 =) (-3 |WO—88
RiTF7AVZ—RIL B:FE-UVIFIL/ NVERTP—L
< ) EEFIER :35. -4-3- . - SRSz (BEE)
2 4| UURILIVNAT 100 1(33/%1)5 A3 70 6 f; SRE (B
RIIVINMATA—H— B:TA7AXO—F £ 2
o~ RZRIFE :36. -1-1- . - TTEA (BEE)
3lgl11| TLTRRY L 20 1(346)3 1-1-1-2 | 38.0 9 (5+017) o
R:5TU=FA4 B:7IR=ZVT7 BEERS
N ~ 510 | AOEREE— 1:36.6 5-6-5-4 |37.9| - 3 500 | SEfEZ (BHE)
4 3 V1—~N—F v 56.0 (1172 (-4) ;E#iﬁﬂ
RiFvInAO— B:Y=-J0OvHLA FRERS
~ F 4 6 | LUEFEE 1:36.8 3-4-4-6 [38.3| — 5 449 |BHEE (BTE)
5056 EVANLYF 56.0 (3/4) 1) WINE
RiTT /=X BSAVEYRET N JI05TF—L
3y g— " st 4 | PSR 1:36.8 9-9-8-5 |37.9| — 2 464 | SEBZ (BEE)
61812/ ¥3—hRbEwZ 56.0 NF) 1) (R J PN

R:F/VNS—K BiRUTA DAY ER Y K

N 7 | KBS 1:37.2 8-8-7-8 [38.3| — 4 1465 | SEEZ (BEE)
]2 XVAT K " 56.0 @ © @ U/L-vuy

R:FHVYITTRY B:F«7I—FE RH5%
3= ~ 5 | AMERE 1:37.3 7-3-6-7 |38.6| — 7 506 | FEREE (BEE)
8l111|X—YTA7%Y " #55.0 @e) (4 |fEREERE
RiXA(vavyLaYyYy B:voodus 12 %5
< YLD blEEES 1:37.7 10-10-10-1 20 - 47 BErlE—A (BEE)
9|55 |FAO/YNY e 56.0 (32) 0-10-10-10) 38 8 (+65) ERES
REVFOVY BRAR—TZAD—TV IIDST7—L1L
> ~ 8 | RAHMAER 1:38.8 12-12-12-12] 38.6 | — " 507 | TFBA (BEE)
1008 8 | FI—TItLVR " 50 ® vy |EEEE
R:F4—=FAVINT s B:IvF2 F—U— - Iv/\ - T7—LBRR
— 47 | DOEERIME 1:39.0 6-7-9-11 [39.9| - 11 | 521 |S|MEEX (BEE)
M79|A9x7 56.0 ) (g | LR
RZAVT T A=V 7—R—F B:TS5vI7FF HBEIT7—LA

RFYES—U 8:aVP—bR—R O | s

75w ~ 1) 4% 9 | MEEZ 1:39.1 1-11-11-9 [ 39.3 | - 10 | 437 |dE— (BEE)
EH 7|¥73vTUYIY 54.0 (2E) TSy T - REIAV R ()

® 1—F—EBIRfL

13—7— [11,10.6.4.3,9.1,2,12,5.7.8
23—7F— |11,10,1,(4,6),3,9,2,12,5.7.8
33—7— [11,10.4,6,3.1,2,12,9,5.7.8

4J—7— |(10,11,4,3,12,6,1,2,7,5,9.8
@ IRE
& s 10 140 | | 94 B 4-10 440 | | # = 4-7 1,820/ | | 3&8 | 4-10-11 10,850MH
& B 10 120M 10-11 1,060 | | /5 = 4-10 1,410 | | 3&&E [ 10-4-1 28,520M
4 320M 4-11 5,870 | | /& & 10-4 1,790M
" 590M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



